Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2016

Subject Name : Transmission and Distribution of Electrical Power
Subject Code : 2TE04TDE1) Branch: Diploma(Electrical )
Semester : 4 Date : 10/05/2016 Time : 02:30 To 05:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions: (14)

a) Corona effect can be detected by
A. hissing sound
B. faint luminous flow of bluish color
C. presence of ozone detected by odor
D. all of the above.

b) Maximum permissible span for wooden poles is
A. 10 meter
B. 20 meters
C. 60 meters
D. 200 meters.

c) Intransmission system a feeder feeds power to
A. service mains
B. generating stations
C. distributors
D. all of the above.

d) In India which type of distribution system is mostly available?
A. Radial
B. Parallel
C. Network
D. None

e) When two conductors each of radius r are at a distance D, the capacitance
between the two is proportional to
A. loge (D/r)
B. loge (r/D)
C. 1/loge (D/r)
D. 1/loge (r/D).
f)  ACSR conductor implies to
A. All conductors surface treated and realigned
B. Aluminum conductor steel reinforced
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C. Anode current sinusoidally run
D. Anodized Core Smooth Run.
The effect of ice deposition on conductor is
A. increased skin effect
B. reduced corona losses
C. increased weight
D. reduced sag.
When the power is to be transmitted over a distance of 500 km, the transmission
voltage should be in the range of
A. 33kV -66 kV
B. 66 kV - 100 kV
C. 110kV - 150 kV
D. 150KV - 220kV.
What is the highest possible transmission voltage in India?
A. 675 kV
B. 765 kV
C. 132 kV
D. 440 kV
The neutral wire is coloured ................... :
A. black
B. green
C.red
D. blue
750 kV is termed as
A. Medium high voltage
B. High voltage
C. Extra high voltage
D. Ultra high voltage
Conductors for high voltage transmission lines are suspended from towers
A to reduce clearance from ground
B. to increase clearance from ground
C. to reduce wind and snow loads
D. to take care of extension in length during summer.
RCC poles usually have span of
A. 250-400m
B. 80-150m
C. 50-80m
D. 25-50m
Boosters are basically
inductors
capacitors
transformers
synchronous motors.

COw>

Attempt any four questions from Q-2 to Q-8

Q-2
A

Attempt all questions (14)
Draw and Explain the Single line diagram of Power System. 7
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b)

State the different types of insulators. Explain any two of them.

Attempt all questions

Explain parameters of transmission line.
Enlist types of bus bar arrangements. Explain any two arrangement.

Attempt all questions

State and explain skin effect in detail with help of appropriate diagram.
Explain Pi (IT) Method of Medium Transmission line.

Attempt all questions

Draw and explain the Vector Diagram for a) Lagging power factor and (b)

Leading power factor of the load for short transmission line.
Compare Primary and Secondary Distribution System

Attempt all questions
Explain requirements and disadvantages of EHV transmission
Explain types of HVDC system and write its advantages

Attempt all questions
Draw and explain h type cable, SL type cable & HSL type cable.
State the classification of cables and write its applications.

Attempt all questions
Compare outdoor type substation over indoor type substation.
Explain the functions of any seven elements of Substation.

Attempt the following questions:

SRAoll AUUR Wl gl e asia B
A. B3R WGos
B.ulel aleo(l 20Lef 9L AUss? Awrell yaus
C. 3Rt §1%3 gl A
D.GURell dHIH .

GLSSLoll WA HI2 HSTH ¥uUlal 32cll B
A.10 meter

(14)



d)

f)

9)

h)

B.20 meters
C.60 meters
D.200 meters.

gloatet R $ls2 Slal UlaR WA B
A. Ul Aot
B. Rol2(3l R

c.B3

URoryed

D. GURell MM

AR UL 58 BRRoyAt RreH iR Yyl Hlal 1A B

A Baa
B. WRAE
C.aeds
D. GUR ML 818 «i(3

A algs r AwAclon €35 R d A B AR, A A JU{les of yHRML

3¢ SlA B

(A) loge (D/r)
(B) loge (r/D)
(C) 1/1og. (DIr)
(D) 1/1oge (r/D).

ACSR dl&s Hdc®

(A) A soissed AFU 12s Aes Raucuds

(B) UM AN 55522 Wl ABoHRE
(C) Aolls s22 RojABSIA el

(D) ANollsE% 812 VYE Rwl
AlSs UR 6Ry wulauclely WA s B?

A
B.
C
D

3ol Al HsA

A.

33 kV - 66 kV

. @ot S¥se Ul aurd
ol AlUAU YaLsL
. ARl det
SYRS AdL Hi v2Ls
%2 UldR 500 (3l §2 UR YRl scuMi A B, glod@M et ARy ¥
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B. 66kV -100kV
C. 110kV-150kV
D. 150KV -220kV.

D euRcui dlell ay sl gle@alel AR g B?

A. 675kV
B. 765kV
C. 132kV
D. 440kV
) e dlgaR ol 5§ .................
A. black
B. green
C. red
D. blue

K} 8 750 kv o33 Aavami w1 D
A HlBau sie e
B. &l8 e
C. dsU2L &l8
D. dEL 88 A%
) AU ARy 2letBlalol AlBed clss 2laR Ul 2l M2 UNos salHl A D
A, %Hlat HRl ualsl
B. Hlol Uy auR
C. Udel ual ¢Rg Als eelsl
D. Gollow eM2Alet cotes [QrclRRL sl Aal HIR .

M) RCCWE HL Ulet 32A 38 D

A. .250-400m

B. 80-150m
C. 50-80m
D. 25-50m

N gued yoed
A. 8elssed
B. ¥R
C. gluglkAA
D. Risety WA .

Attempt any four questions from Q-2 to Q-8



Q-2

Q-4

Q-6

Q-7

Q-8

Attempt all questions
ylak RreH oll RoLE clset SLALILLH ELRL Aol UHALAL

WELYEL USRall Acllss oll ot cAv{l (Adtdalr AHAA(SS Ul Q).

Attempt all questions
glodBet clgel oll A2 AU A

oA GLR caReUl oll USIRA Gull. SlURL G cAclRUL UHal.

Attempt all questions
R¥ot 8352 callvafld 531 2331 uis(A WA (Al el A

HlSlan gletMuet M2 We (1) AAS AHAA

Attempt all questions
9M& 2letM Aol cllBel oll ALS oll (a) ARIDLWER ¥522 waA (b) (AL waR ¥se?

HI2 As2R SLEALH E1RL ol AHLAl.
UM Bdloyuot Ay H ol Asats3 [3Eloyuet RreH ofl Auumell s

Attempt all questions
EHV 2led@lot ol 33l Al ARLAEL AL

HVDC R2H USLRL AMstalal wal kil Glel Ul

Attempt all questions
H USIR 306, SL USIR 30lel Vol HSL USIR oll 3eictol(l vUs(AQ €11 wal AH sl

301G of ao(lsR0l UM A Aol Astl GUAN v,

Attempt all questions
BoS1R USIR UGR2AL UR LGSR USSR ez lel UuilHe(l s

UG Aot oll 818 Alcl A Ao of s121 AMALAl
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